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MATHEMATICS

Time: 2 hours

INSTRUCTIONS TO CANDIDATES (Please read these instructions carefully)

1.

You have been given this question booklet and a separate answer sheet. The question booklet contains 50 questions.

2. Do any necessary rough work in this booklet.
3. When youhave chosen your answer, mark itonthe ANSWER SHEET, not in this question booklet.
HOW TO USE THE ANSWER SHEET
4. Useonlyanordinary pencil.
5. Make sure that you have written on the answer sheet:
YOURINDEX NUMBER
YOURNAME
NAME OFYOUR SCHOOL
6. By drawing a dark line inside the correct numbered boxes mark your full Index Number (i.e. School Code Number and the
three-figure Candidate's Number) in the grid near the top of the answer sheet.
7. Do notmake any marks outside the boxes.
8. Keep the sheet as clean as possible and do not fold it.
9. For each of the questions 1-50 four answers are given. The answers are lettered A, B, C and D. In each case only ONE of the
four answers is correct. Choose the correct answer
10. On the answer sheet, show the correct answer by drawing a dark line inside the box in which the letter you have chosen is
written.
Example
In the Question Booklet.
35. The following are factors of sixteen. Which one is the odd one out?
A. 16
B. 1
€. 8
D 3
tA1 tB1tCr Do tA1r tB1tCr (Dr tA1 tB1tCr Dy tAr tB1:Cr o IEY tAr tBi «Cr tDs
On the answer sheet:
In the set of boxes numbered 35, the box with the letter D printed in it is marked
11. Yourdarkline MUST be within the box.
12. Foreach question ONLY ONE box is to be marked in each set of four boxes.
=
=
=

This question paper consists of 8 printed pages.
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What is 3303030.03 written in words?

y T AN
A Threa million three hundred and three thousand

and thirty and three hundredths.

Threa million three hundred and thinty 3!‘.0{.8&!’!d

and zhirty and three hundredths.

f:‘ i nrmﬂ mﬂnﬁ‘i :};TE% ﬂuuured ﬁﬂd {hree !h@“s&ﬂd

and thirty and thirty hundredths.

D. Thirty million three hundred and thre ee thousand

and thlrly and three hundredths.

m

hundredihs as n"} {‘ ad their sum
A.30.65
B.31.67
C.31.66
D.31.65

Amina goes for clinic after every 0 days. Maria guca
after every 8 days while Ngonyi goes “after every 12
days. If alf of them went for the ciinic on 17th February
2020, on which day did they go for clinic together again?
A.llthFeb

B. 11th March

C. 12th March

D. 13th March

The area of a square ploti is 5184m°. It was fenced
using five sirands of wire. What was the total length
ofwzre used?

. "Oénl

. 1200m

. A*‘HJU!H

D. 1440m

(‘}CO:E

The diagram below represented a grass lawn. What

is its perimeter?
(’/—“'\\1

i

’2 5m

"/g-—-_,..

A.100m
R 1722m
C. 144m
1y}
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By how much is the LCM of 20, 25 and 30 greater
than the GCD of 90, 120 and 1507

A FTOH
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.30
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A pick-up carried 20 bags oi maize four each
weighing 90kg. Half of the flour was packed into
2kg packets, Half of the remainder into ikg

|
packets and the rest into 7 kg packets. How many

packets were obtained altogether?

A, 2700
B. 1350
C. 900
D. 1800

Keli is paid a daily wage of sh. 350. He is also paid a
commission of sh, 12 for every sh. 200 collected above

sh. 5000. How much did he earn on a day that he
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dch 200067

What 1s the value of;
45+03+12%x504q

1.2x4.0+20x 1.1

Working Spaee

I
renresented by a rectangle measuring lemby —— cm
Wihatic b arinal area af the maize field in hectares?
A.12.5ha
R 175ha
C. 1250ha
= - o
L. 1.22na
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What is the vale of x 1n;

=2 x+i
—t —— =79
4 2

A3

B s

C.6

D.7

The diagram below represents Mutia's farm.

117 & R
ﬁ‘-li !\1 e Grea 0

A.980m*°

\

B.&72m?
C. 1386m*
i ‘?r’lm?

A trniee 1o RAwmstacn Am AAanA 4 s
Atrain left Mombasa on Menday at 11:45pm. It teeck

18hours 30 minutes to reach Kisumu. On which day

and time did it reach Kisumu?

Uewe
DS D q
map--.-.-a‘
L W a

nm Maondav

m Menday
The tabie below sfiows the mumber of pupils

ahsent in a class of 54 pupils in one week.

Mon |Tue |Wed [Thur |Frid

DayS

S o A i 5 i 7
I L €N \_:1 u\.J.J . - H L
No. of Girls 3 1 2 3

How many puplls were present in the whole week?
A 218
B. 255
C. 270
D. 23

!

o]
it

PR NP I IR NI -3 14 DU, S S (RIS I
A DICYCIC WieE: iale suv ICVOIULIGHS and Covired a

distance of 880 metres. What is the radius of the
wheel?
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17. Mulumba employed 12 men to construct a house in 12
w rlru'lgr gnnnn

days. After working for 6 days, he employed 6 more CoETe
men. How long did it take to construct the house?
A.9days

R. 4 days

C. 8 days

D. 10 days,

18. Inthe diagr
a

Line G
What ist valtwg of an

A B

o/ ., \
F
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. 125°

d27

110°
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¥ . l!’\l a tqrm’ fha rrlhf\ nf cowe tr\ ‘.,,.Em ,‘,S }ff‘, T .
ratio of fgoats to sheep is 5:4. [T there are

Vuaf:n an 3hLLU now many anm‘aas arei

farm?

A 24

B. 60

C. 48

D.72

~ s,
&V, gt:,u ana L\guu,;v uu;j&u; .pului;.u ghiris at the same p:"ﬁ‘;‘

Jeft'sold his shirt  making a pmﬁt Df 20% whx]e Randy

.“3{:3 rzif\é‘(‘ r‘\f ” 1“’/:« iT lPI"?U!W Q” i /i! TTUTF!‘ | !d“

what Randy got, how much had they paid for the two
shiris?

A. ‘Sh 800

B. Sh. 1600

C. Sh. 850

D. Sh. 1700

21. The tank below was three quarter full of water.

rdaily Has

long will the water take the famnily ifit uses it constaniiy?
A. 100 days
B. 75 days
C. 50 days
D. 30 days.

Signal Sparks 2022
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26.

The pie chart below represents Kinuthia's |
expenditure of his salary of sh. 72000.

b \

£ 0.
AN

/\ Oil ‘ood

Savings 1
vt # 100 ,

__,.,.—-—,,

" 80° C ummg /
l
\ Schoo \ /
\<tijf// |
ILL . nn | S

A4 £ :
A3 1w qpuuua -.tu VUV OIS On uumnxb nml; o\.uUu)

fees, how much does he save?

Ch 1—nuxﬁ
o TR PO Vv i vy

B. Sh. 8000

— =

SR ANNN
. ba

D. Sh. 2000

Timothy spent 0.25 of his day at work, 0.3 doing
domestlc chores and 0.5 of the remainder wsnm;_.,

3 ‘f’}lih‘t‘" st of lni_‘ugu What perc i

of his day did he rest?

C.4.45%

D.45%

Onvnros adoe !nnn:m;-m, hn 2% eac h vear If he
Vll"\};lﬁv n.’ uutui.j as e “ g

earns sh. 12000, how much will he earn after one

year’

A. Sh, 13200

B. Sh. 14000

€. Sh. 13230

D. Sh. 12600
Ifa=3,b=2aand c=a+b, what is the value of;
a ‘b & b?-¢ 5
A. 15

B. 18

C.12

D. 21

A square plot has an area of 625m*. C offee seedlings

oo nind LJA:!!

ae pldnn:u ai n:guuu ljlu.l vcu of 4m |vuud wiw DAk a0V
many seedlings are planted altogether?

A.26
B.25

2.

C.20
D24

Warking Space



27. A hospital wag supplied with 12 - 5L tins of syn ip
me h{ SEAIR 3L it L
dicine. Each patient was given 250ml of the syrup.

Hov maseae
0w many !ﬁﬂ 2nic wars trogtad nitasath .
A N LA ME&\J&Q—\!)\-‘! i

28. I?imanthi deposited sh. 30000 in a bank that pay
simple interest at the rate of 8% p.a . How much

o i
was in his account after 13 years?

A OL L6£
A Re WAL NI

B. 8Sh. 33696
C. 5h. 34992
D. Sh. 33600

29. Thetrough below was painted both inside and
outside .

What was the total area painted?

oS T LT
A. Davom”

3- ‘A‘ mg:gtn r@:“zr‘ﬂﬂ'} A gn‘){s i € szqu !!1 S h()“{‘

What was its average speed in m/s?

Lod

|
A. 12— m/s
B.45m/s

C. 7%m/s
D. 15m/s

 where line XY = 7.5¢m, line

wFE
e ¥Y7 Ere

31, Consiract triangle 2 Y
vZ = XZ = 6cm. Draw a circle touching its
vertices. What 1s its radi ius?

A 3.6cm
B. 1.8cm

~ e
{ EV, X FCin

D. 7.8cm
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34.
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Lo B KT -
1 ll\;lauuj of 8 Sﬂ“f*ftngo wiae recorded as follows:

1.29m, 1.31m, 1.42m, 1.63m, 1.44m, 1.39m, 1.57m
and 1.07m. What is the average heighi oi the seediings?
Lk 4?751’!‘!

(18x+9y)+

/'\
J:.
,_.

4y)?

Wandeni sold 20% of the meat in his butchery on

cdaw 1ROL o
Monday, 2834 gn Tuesday, 15% on \, ydne day

and 12% on Thursday. He ‘sold the rest on Friday. If
he sold 14kg on Friday, how miany more X kilograms
were sold on Tuesday than Monday”

oAt MRS

. 15kg

0o

P <)

'i‘:;l

112ks
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Y 3E
12k

F
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A =it im ihp M’M Be A’fﬁ 3{33\,

Aplotinthe zium has an area of
12hectares. One ‘of the parallel sides is 210 metres

i b warall
while the shoriest Jdistance between ing seualgel sides

ic 400 metres. What is the length of the other
parallel side?

A 25%0m

B.410m

Pl 1A LE

.2 7\11“

D. 450m

e following fractions in descending order;
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A ader paid sh. 6660 for a jacket after a discount
f‘)i 12%. How much less would he have paid had he
oeen given discount of 15%9 ’
A. Sh. 637
B. Sh. 225

Sh. 750

h. 250

What is the length of the line marked m in the figure
below?

u o

fzem

i ]
A lorry travelling at a speed of 125 m/s took 3hrs to

travel from town X to town Y, What is the distance

. o1 cxin Baavaram )
batween ihe iwn (GOWNS!

.
<
W
z
=
2
-

i i} R T Ta T,
lume of the piece 01 W00

A. 12320cmy’

77 o
772cm

C. 9240cm’
D. 6480cm’

Working Space



41. Ondieki bought the following items from a shop. Working Space
- 2 litres of milk @ sh. 60.
I
- likg sugar @ sh. 130
- A bar of soap @ sh. 113,
-A2 .;:AB i?ﬁu:u.z' whea ff;,i}iif @ sh. 180
-4 rolls of tissue paper for sh. 60
How much balance did he get from sh. 1000 note?
A.Sh. 670
B. 5h. 330
C. Sh. 850
D. Sh. 150
42. Whatisthe value of;
(S S S B
2—+l—+2—=—o0f3-%
4 2 3 4 3
43
A. 1-
’)‘0
B. 1=
24
o A1
T 48
D. L
48
43. The cost of a pair of trousers is sh. t. The cost of a
. ; .
shirt — the cost of the pair of trousers while the
b}
cost of a pair of short is sh. 50 less than that of a
shirt. A trader bought 2 pairs of trousers, two pairs
of shorts and 3 shirts. How much did he pay?
2
A.Sh.(3—t+40)
N Ol FR—t4 1000
L2. W23k \ > . ¢
2
C. Sh. (3—3—1-40)
a2
D. Sh. (3=t ~-100)
bl
44. {\uumu uau r & xuUbAtS :-)‘ur:ﬁg 'hg D e “"‘na'
hohday, he sold 18 of them. What was the ratio
decrease mithe ¢ number of rabbiic?

Q’ld

sm.ts
b W 4
ubt\)‘w




45.

46.

47.

48.

A
>

oy
Tne net beiow was folded to form a solid

A\

il
- & o,

»

N

What solid did it form?

A, "“"7"”‘“"“5“"’ nﬂéwn

B. Rectangular pyramxd
(‘ T: id ,uu}m ﬁvyginnn

D. Tﬁangu!ar prism.

Draw a parallelogram MINPQ where line MN = 6.5cm,

NP = 4.7cm and angle MNP = 65" Drop a

Kgrpedu:ular from point ¥ to meet line MN at K.
easure line NR.

Which is the smallest number that can be added to
49675 to make it divisible by 11?

UOwWp
[ =N N T JP

The marked price of a gas cooker is sh. 9000. If you
i cash vou 0oL diseount. Thf" hire ﬁug’h&e‘

L
pnlyuununuvuék\uu!uzu SN

price includes a deposit of sh.6400 and the Test in 8
equal monthly installments of sh. 700. How much more

does one pay on hire purchase than cash?
A. Sh. 5600

A~

B. Sn. 3400

C. Sh. 3000

™ Tk 1000
FUL

Asy wFrae

ot o

. . s 12 =2 5
Thso grhia helow shows ifie posta 1€ 0 f,!} rfuggrl

money orders.

\'dlue Ul 1] uex ‘u‘}i} i“mm!G&‘lnn
(Sh) (cts)
Upto 500 45 00
501 - 1000 96 OU
1001 to 2000 140 00
f!un nu 2{‘{19 2!5 QO
5001 to 10000 295 00 f
10000 4n ‘?uﬁlli“ ’;5{} ﬂﬂ

20001 t0 50000 | 425 00 |

ses for his two children using
&aran}a pmu 3bhuux fe

two money orders of sh. h.7500 ‘md sh. 12500. How

1 rrht ﬂnp rnl’nu—*y

much would he have saved hiad hic 5oug:




A e e

1iam iZnoon i gm
he

ime
gt

’
»am
s g i

_
iR

ot |
|

yi
!
B o'y

Saim 10am
T
e

-r

VR U, A D S QW

Y
i

T

o o
Qarni

I 1T I ‘ o H |
i

rth 3!4 ‘-
< o Q o] O (=)
S0 Bb Y e 8 ¢ ox

-
Ssjjowopy uy aoueysig 2

o

o

C QM

his ave

oo 224> &

A.30km/hr

1

Town Y 80

Vhat wag

A5 1
1A

km/hr
D. 35km/hr

B. 40km/nr
C.20
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